# Erratum to: Quantum Image Encryption Algorithm Based on Quantum Image XOR Operations 

Li-Hua Gong ${ }^{1} \cdot$ Xiang-Tao $\mathrm{He}^{1}$ • Shan Cheng ${ }^{2}$. Tian-Xiang Hua ${ }^{1} \cdot$ Nan-Run Zhou ${ }^{1}$

Published online: 18 August 2016
© Springer Science+Business Media New York 2016
Erratum to: Int J Theor Phys (2016) 55:3234-3250
DOI 10.1007/s10773-016-2954-6

The original version of this article unfortunately contained mistakes that were introduced during production processing. The introduced mistakes are listed and corrected below:

1. Eq. (7)

$$
=\stackrel{7}{\otimes}\left(T_{Y X}^{i}\left|C_{Y X}^{i}\right\rangle\right)=\stackrel{7}{\otimes}\left|C_{Y X}^{i} \otimes h_{Y X}^{i}\right\rangle=|f(Y, X)\rangle
$$

should be

$$
\begin{equation*}
\left.=\stackrel{7}{\otimes}\left(T_{Y X}^{i}\left|C_{Y X}^{i}\right\rangle\right)=\stackrel{7}{\otimes}\left|C_{i=0}^{i}\right| h_{Y X}^{i} \oplus\right\rangle=|f(Y, X)\rangle . \tag{7}
\end{equation*}
$$

2. The sentence below Eq. (7), " $U Y X$ " should be " $U_{Y X}$ ".
3. The last line in Eq. (9)

$$
=\frac{1}{2^{n}}\left(\sum_{y=0}^{2^{n}-1} \sum_{\substack{x=0 \\ y x \neq Y X}}^{2^{n}-1} \stackrel{7}{i=0}_{\otimes}^{\otimes}\left|C_{y x}^{i}\right\rangle|y x\rangle+\underset{i=0}{\underset{\otimes}{\otimes} \mid}\left|C_{Y X}^{i} h_{Y X}^{i}\right\rangle|X Y\rangle\right)
$$

The online version of the original article can be found at http://dx.doi.org/10.1007/s10773-016-2954-6.

## Nan-Run Zhou

nrzhou@163.com; nrzhou@ncu.edu.cn

1 Department of Electronic Information Engineering, Nanchang University, Nanchang 330031, China
2 Department of Electrical Engineering, Jiangxi Vocational College of Mechanical \& Electrical Technology, Nanchang 330013, China
should be
4. Eq. (10)

$$
\begin{aligned}
& \left.\left.=B_{Y_{1} X_{1}} \frac{1}{2^{n}}\left(\sum_{y=0}^{2^{n}-1} \sum_{\substack{x=0 \\
y x \neq Y X}}^{2^{n}-1}{\underset{i}{i}}_{\otimes}^{\otimes}\left|C_{y x}^{i}\right\rangle| | y x\right\rangle+{\underset{i=0}{7} \mid C_{Y X}^{i}}^{\left(h_{Y X}^{i}\right)}\right\rangle|X Y\rangle\right)
\end{aligned}
$$

should be

$$
\begin{aligned}
& =B_{Y_{1} X_{1}} \frac{1}{2^{n}}\left(\sum_{y=0}^{2^{n}-1} \sum_{\substack{x=0 \\
y x \neq Y X}}^{2^{n}-1} \underset{i}{\underset{i}{\otimes} \mid}\left|C_{y x}^{i}\right\rangle|y x\rangle+\underset{i=0}{7}\left|C_{Y X}^{i} \oplus h_{Y X}^{i}\right\rangle|Y X\rangle\right)
\end{aligned}
$$

5. First line 1 below section 4.1 where it says,

$$
|M\rangle=\frac{1}{2^{n}} \sum_{y=0}^{2^{n}-1} \sum_{y=0}^{2^{n}-1}|g(y, x)\rangle|y x\rangle
$$

should be

$$
|M\rangle=\frac{1}{2^{n}} \sum_{y=0}^{2^{n}-1} \sum_{x=0}^{2^{n}-1}|g(y, x)\rangle|y x\rangle
$$

The publisher regrets that the following errors were introduced during the production process.

